
Chemical Bond



Born-Oppenheimer Approximation
• The nuclei are much more 

massive than the electrons and 
hence move much slower

• Thus nuclei can be considered 
stationary while electrons 
move in their field

• We think of nuclei remaining 
fixed at arbitrary locations and 
then solve the Schrödinger 
equation for the wavefunctions 
of the electrons alone

• The molecular potential energy 
curve (adjacent figure) is so 
called because the kinetic 
energy of the stationary nuclei 
is zero.
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